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1. Give two different examples of pair of ,- similar

figures.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wqXMPHBTXtX8

2. Give two different examples of pair of ,- non-

similar figures.

° Watch Video Solution

3. State whether the following quadrilaterals are

similar or not :-

5 15m R

1.5cm 1.5cm dom) 3cm|

1.5em o

o Watch Video Solution



https://dl.doubtnut.com/l/_wqXMPHBTXtX8
https://dl.doubtnut.com/l/_hTM3c2awNoXg
https://dl.doubtnut.com/l/_gfMZjndrjgMT

1. In fig. (i) and (ii), DE || BC. Find EC in (i) and AD in

(i1).

° Watch Video Solution



https://dl.doubtnut.com/l/_gfMZjndrjgMT
https://dl.doubtnut.com/l/_DrxmEhmKm2La

° Watch Video Solution

3. E and F are points on the sides PQ and PR
respectively of a ZPQR. For each of the
following cases, state whether EF || OR : PE = 3.9

cm, EQ =3 cm,PF=3.6 cmand FR=2.4 cm.


https://dl.doubtnut.com/l/_v2C3Pp9KjjF2
https://dl.doubtnut.com/l/_FDMK30AHWr7D

° Watch Video Solution

4. E and F are points on the sides PQ and PF
respecively of a APQR. For each of the

following series, state whether EF|| QR:

PE = 4cm, QF = 4.5¢m, PF = 8cm and RE = 9

° Watch Video Solution

5. E and F are points on the sides PQ and PR

respectively of a ZPQR. For each of the


https://dl.doubtnut.com/l/_FDMK30AHWr7D
https://dl.doubtnut.com/l/_wlyb263lhUrX
https://dl.doubtnut.com/l/_Ms481CIBcjco

following cases, state whether EF || QR : PQ = 1.28

cm, PR =2.56 cm, PE = 0.18 cm and PF = 0.36 cm.

o Watch Video Solution

6. In fig, LM || CB , and LN||CD.Prove that

AM AN
AB ~ AD L
B
M
A B c
o

° Watch Video Solution



https://dl.doubtnut.com/l/_Ms481CIBcjco
https://dl.doubtnut.com/l/_dF4i3cJb0gC0

7. In fig. DE || AC, and DF || AE prove that
BF  BE

EF EC

o Watch Video Solution

8. In fig., A, B and C are points on OP, OQ and OR

respectively such that AB || PQ and AC || PR. Show


https://dl.doubtnut.com/l/_YJS3T7Lxxj8Q
https://dl.doubtnut.com/l/_fPB3A06WsAix

that BC || QR.

° Watch Video Solution

9. ABCD is a trapezium in which AB Il DC and its

diagonals intersect each other at the point O.

AO coO

how that = .
sowaBO D0

o Watch Video Solution



https://dl.doubtnut.com/l/_fPB3A06WsAix
https://dl.doubtnut.com/l/_ctrF28PGscVY

1. State which pairs of triangles in Fig. are similar.

Write the similarity criterion used by you for
answering the question and also write the pairs

of similar triangles in the symbolic form:

o Watch Video Solution



https://dl.doubtnut.com/l/_ctrF28PGscVY
https://dl.doubtnut.com/l/_QPgrqMBD7Pet

2. State which pairs of triangles in Fig. are similar.
Write the similarity criterion used by you for
answering the question and also write the pairs

of similar triangles in the symbolic form:

P

° Watch Video Solution



https://dl.doubtnut.com/l/_MEKr6j6gUPmy

3. State which pairs of triangles in Fig. are similar.
Write the similarity criterion used by you for
answering the question and also write the pairs

of similar triangles in the symbolic form:

b
L
4 B
27| N2
M 2 P 3 5 F

° Watch Video Solution

4. State which pairs of triangles in Fig. are similar.

Write the similarity criterion used by you for


https://dl.doubtnut.com/l/_5rU3IHo5kfUr
https://dl.doubtnut.com/l/_saer5tUklq9W

answering the question and also write the pairs

of similar triangles in the symbolic form:

F

N L Q 10 A

° Watch Video Solution

5. State which pairs of triangles in Fig. are similar.
Write the similarity criterion used by you for

answering the question and also write the pairs


https://dl.doubtnut.com/l/_saer5tUklq9W
https://dl.doubtnut.com/l/_Th2vwHVHjKIL

of similar triangles in the symbolic form:

|_|r||

o>

D

B0~

e
{3
m

/]

° Watch Video Solution

6. State which pairs of triangles in Fig. are similar.

Write the similarity criterion used by you for

answering the question and also write the pairs


https://dl.doubtnut.com/l/_Th2vwHVHjKIL
https://dl.doubtnut.com/l/_IW1xWabYVuyr

of similar triangles in the symbolic form:

D P
E F a E

° Watch Video Solution

7.Infig, A ODC — A OBA, Z/BOC = 12500

and ZCDO = 700 0. Find ZDOC, 2DCO and

ZOAB.
-+ ) — 4 >
O X)125°
- £ T -



https://dl.doubtnut.com/l/_IW1xWabYVuyr
https://dl.doubtnut.com/l/_UhaqgSuuR0kx

o Watch Video Solution

8. Diagonals AC and BD of a trapezium ABCD with
AB || DC intersect each other at the point O. Using

a similarity criterion for two triangles , show that

OA OB

OC OD

° Watch Video Solution



https://dl.doubtnut.com/l/_UhaqgSuuR0kx
https://dl.doubtnut.com/l/_I6g8Wg3elziF
https://dl.doubtnut.com/l/_qePKQiKgLrZz

QT
. In fig. — — .
9.In fig., oS PR and /1 = /2 . Show that

A PQS- A TQR.

° Watch Video Solution

10.D is a point on side BC of AABC(C such that AD

= AC (see Fig. 7.47). Show that AB > AD.


https://dl.doubtnut.com/l/_qePKQiKgLrZz
https://dl.doubtnut.com/l/_2gmSaL8hWhvs

D
Fig. 7.47

o Watch Video Solution

M. In figure A ABE = A ACD show that

AN ADE~ A\ ABC.


https://dl.doubtnut.com/l/_2gmSaL8hWhvs
https://dl.doubtnut.com/l/_9hq5NR7vFmAn

o Watch Video Solution

12. In figure, altitudes AD and CE of AABC

intersect each ther at the point P. show that:


https://dl.doubtnut.com/l/_9hq5NR7vFmAn
https://dl.doubtnut.com/l/_3ef6KtOt3eDs

A E B

AAEP-ACDP

° Watch Video Solution

13. In figure, altitudes AD and CE of AABC

intersect each ther at the point P. show that:


https://dl.doubtnut.com/l/_3ef6KtOt3eDs
https://dl.doubtnut.com/l/_LHPEvS2Quz1s

AABD-ACBE

° Watch Video Solution

14. In Fig., altitudes AD and CE of A ABC

intersect each other at the point P. Show that :-


https://dl.doubtnut.com/l/_LHPEvS2Quz1s
https://dl.doubtnut.com/l/_CBTgTC8tM9AA

N AEP- A ADB.

° Watch Video Solution

15. In Fig.,, altitudes AD and CE of A ABC

intersect each other at the point P. Show that :-


https://dl.doubtnut.com/l/_CBTgTC8tM9AA
https://dl.doubtnut.com/l/_8AfAhvsAQzV4

AN PDC~ A BEC'.

° Watch Video Solution

16. AABC and ADBC are two isosceles
triangles on the same base BC and vertices A and

D are on the same side of BC (See Fig.


https://dl.doubtnut.com/l/_8AfAhvsAQzV4
https://dl.doubtnut.com/l/_sf6zWcmggpuG

(LB

I3 3
F )If AD is

extended to intersect BC at P, show that

AABP = AACP.

o Watch Video Solution

17. In Fig., ABC and AMP are two right triangles,

right angled at B and M respectively. Prove that :-


https://dl.doubtnut.com/l/_sf6zWcmggpuG
https://dl.doubtnut.com/l/_GmR40ukNwzOD

N ABC- A AMP .

° Watch Video Solution

18. In Fig., ABC and AMP are two right triangles,

right angled at B and M respectively. Prove that :-


https://dl.doubtnut.com/l/_GmR40ukNwzOD
https://dl.doubtnut.com/l/_6TSMArzA2ecD

PA

° Watch Video Solution

19. CD and GH are respectively the bisectors of
/ACB and ZEGF such that D and H lie on sides

AB and FE of A ABC and A EFG respectively.

AC

Iif AN ABC~ A FEG,show that :- GH Vel



https://dl.doubtnut.com/l/_6TSMArzA2ecD
https://dl.doubtnut.com/l/_HsOd6rPm941O

‘ ° Watch Video Solution

20. CD and GH are respectively the bisectors of
/ACB and ZEGF such that D and H lie on sides
AB and FE of A ABC and A EFG respectively.
If AN\ ABC-~ A FEG, show that -

AN DCB~ AN HGE.

° Watch Video Solution

21. CD and GH are respectively the bisectors of

L/ACB and ZEGF such that D and H lie on sides


https://dl.doubtnut.com/l/_HsOd6rPm941O
https://dl.doubtnut.com/l/_iGNCd09T2y8s
https://dl.doubtnut.com/l/_YoV3Ww5fUxVV

AB and FE of A ABC and A EFG respectively.
If AN\ ABC~ A FEQG, show that -

AN DCB~- A HGE.

° Watch Video Solution

22.In Fig., E is a point on side CB produced of an

isosceles triangle ABC with AB = AC. If AD 1 BC


https://dl.doubtnut.com/l/_YoV3Ww5fUxVV
https://dl.doubtnut.com/l/_H0fggFl6QNjG

and EF | AC, provethat A ABD~ A\ ECF.
A

° Watch Video Solution

23.If AD and PM are medians of triangles ABC and

POR, respectively where A ABC- A PQR ,


https://dl.doubtnut.com/l/_H0fggFl6QNjG
https://dl.doubtnut.com/l/_gMARPXECsl5m

AB AD

P that — = ——.
rove tha PO P

o Watch Video Solution

1. Let AABC-ADEF and their areas be,

respectively, 64 ¢m? and 121 em?. If EF = 154 cm,

find BC.

| Q Watch Video Solution


https://dl.doubtnut.com/l/_gMARPXECsl5m
https://dl.doubtnut.com/l/_lA8AVh6p4Nd6

2. Diagonals of a trapezium ABCD with AB||DC
intersect each other at the point O. If AB=2 CD,find

the ratio of the areas of triangles AOB and COD.

° Watch Video Solution

3. If the areas of two similar triangles are equal,

prove that they are congruent.

o Watch Video Solution



https://dl.doubtnut.com/l/_lA8AVh6p4Nd6
https://dl.doubtnut.com/l/_nbFFNXxxyGlE
https://dl.doubtnut.com/l/_KrjXtKUN8joZ
https://dl.doubtnut.com/l/_dCRzGpqRAFWP

4.1f DE and F are respectively, the mid-points of

AB,AC and BC in AABC, then BE+AF is equal to

° Watch Video Solution

5. Prove that the areas of the equilateral triangle
described on the side of a square is equal to half
the area of the equilateral triangle described on

one of its diagonal.

° Watch Video Solution



https://dl.doubtnut.com/l/_dCRzGpqRAFWP
https://dl.doubtnut.com/l/_iWahjVvuzpm9

6. If ABC and BDE are two equilateral triangles
such that D is the mid-point of BC, then find
ar( A ABC):ar( A BDE)

A 2:1

B.1:2

C.4:1

D.1:4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ueRDlLbRamEF
https://dl.doubtnut.com/l/_txKVHIDxsarY

7. Tick the correct answer and justify : Sides of

two similar triangles are in the ratio 4:9. Areas of

these triangles are in the ratio

A2:3

B.4:9

C.81:16

D.16: 81

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_txKVHIDxsarY

1. Sides of triangles are given below. Determine
which of them are right triangles. In case of a
right triangle, write the length of its hypotenuse.

-7cm, 24 cm, 25 cm

° Watch Video Solution

2. Sides of triangles are given below. Determine

which of them are right triangles. In case of a


https://dl.doubtnut.com/l/_iCD11uFwdoeQ
https://dl.doubtnut.com/l/_RDBE3JOfrAyf

right triangle, write the length of its hypotenuse.

:-3cm,8 cm, 6 cm.

° Watch Video Solution

3. Sides of triangles are given below. Determine
which of them are right triangles. In case of a
right triangle, write the length of its hypotenuse.

:-50 cm, 80 cm, 100 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_RDBE3JOfrAyf
https://dl.doubtnut.com/l/_GGbKVpAliZJG

4. Sides of triangles are given below. Determine
which of them are right triangles. In case of a
right triangle, write the length of its hypotenuse.

=13 cm, 12 cm, 5 cm.

° Watch Video Solution

5. PQR is a triangle right angled at P and M is a
point on QR such that PM 1 OQR. Show that

PM? = QM.MR.

° Watch Video Solution



https://dl.doubtnut.com/l/_YDw8KsRviDW5
https://dl.doubtnut.com/l/_KDTiy5DSLtDq
https://dl.doubtnut.com/l/_7kp4XyatOqfF

6. In ABD is a triangle right angled at A and
AC 1 BD. Show right angled at A and

AC 1 BD. Show that

B A

AB? = BC. BD

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_7kp4XyatOqfF

7. In ABD is a triangle right angled at A and
AC 1 BD. Show right angled at A and

AC 1 BD. Show that


https://dl.doubtnut.com/l/_7kp4XyatOqfF
https://dl.doubtnut.com/l/_mgEGogKH2iGZ

AC? = BC. DC

° Watch Video Solution



https://dl.doubtnut.com/l/_mgEGogKH2iGZ

8. In ABD is a triangle right angled at A and
AC 1 BD. Show right angled at A and

AC 1 BD. Show that

B | A

AD? = BD.CD

° Watch Video Solution



https://dl.doubtnut.com/l/_ceFAyubbVR01

9. ABC is an isosceles triangle right angled at C.

Prove that AB? =2AC".

o Watch Video Solution

10. ABC is an isosceles triangle with AC = BC. If

AB? =2AC?, prove that ABC is right triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_ceFAyubbVR01
https://dl.doubtnut.com/l/_Wb0c7fbiZe4F
https://dl.doubtnut.com/l/_JiudF6sQSzJ2

1. ABC is an equilateral triangle ofside 2a. Find

each of its altitudes.

° Watch Video Solution

12. A ladder 10 m long reaches a window 8 m
above the ground. Find the distance of the foot

of the ladder from base of the wall.

° Watch Video Solution



https://dl.doubtnut.com/l/_F2Fs4Ccew0OZ
https://dl.doubtnut.com/l/_SKsVLEUMQsH6

13. D and E are points on the sides CA and CB

respectively of a triangle ABC right angled at C.

Prove that AE? + BD? = AB? + DE?.

° Watch Video Solution

14. In an equilateral triangle, prove that three
times the square of one side is equal to four

times the square of one of its altitudes.

o Watch Video Solution



https://dl.doubtnut.com/l/_ioLnZMCqmSgH
https://dl.doubtnut.com/l/_QJKmM4gPbWtL

1. In figure , D is point on hypotenuse AC of

AABC, BD | AC,DM | BC and DN | AB.

Prove that
A
D
N
C B



https://dl.doubtnut.com/l/_BZ0pwPHCOZdV

| QJ Watch Video Solution

2. In figure , D is point on hypotenuse AC of

AABC, BD | AC,DM 1 BC and DN | AB.

Prove that
A
D
N
C B

DN? = DM. AN



https://dl.doubtnut.com/l/_BZ0pwPHCOZdV
https://dl.doubtnut.com/l/_K1rDsa01t00N

‘ ° Watch Video Solution

3. In figure, ABC is a triangle in which
ZABC > 90° and AD 1 CB produced. Prove

that AC? = AB? + BC? + 2BCBD.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_K1rDsa01t00N
https://dl.doubtnut.com/l/_cQLzf6AWfRqZ

4. In figure, AD is a median of a triangle ABC and

AM 1 BC. Prove that

A

B M D "'{;

2
AC? = AD? + BC. DM + (3_20)

° Watch Video Solution



https://dl.doubtnut.com/l/_VvNOiHron6OT

5. In figure, AD is a median of a triangle ABC and

AM 1 BC. Prove that
A

BC\’
AB? = AD? — BC. DM + <T>

° Watch Video Solution



https://dl.doubtnut.com/l/_t5RbnegJsVy2

6. In figure, AD is a median of a triangle ABC and

AM 1 BC. Prove that
A

B M D "@

1
AC? + AB? = 24D% + 5302.

° Watch Video Solution



https://dl.doubtnut.com/l/_PW3flNM9P6RS

7. Prove that sum of squares of the diagonals of a
parallelogram is equal to sum of squares of its

sides.

° Watch Video Solution

8.In two chords AB and CD intersect each AB and

CD intersect each other at the point P. Prove that


https://dl.doubtnut.com/l/_HAV4TzcwIHwE
https://dl.doubtnut.com/l/_dZXjU9c9jVh7

AAPC-ADPB

° Watch Video Solution

9. 1n two chords AB and CD intersect each AB and

CD intersect each other at the point P. Prove that


https://dl.doubtnut.com/l/_dZXjU9c9jVh7
https://dl.doubtnut.com/l/_5bWSkxkyFopK

O

AP. PB = CP.DP

° Watch Video Solution

10. In two chords AB and CD of a circle intersect
each other at the point P (when produced)

outside the circle. Prove that


https://dl.doubtnut.com/l/_5bWSkxkyFopK
https://dl.doubtnut.com/l/_sAnwHDhPkUAu

APAC-PDB

° Watch Video Solution

11. In two chords AB and CD of a circle intersect
each other at the point P (when produced)

outside the circle. Prove that


https://dl.doubtnut.com/l/_sAnwHDhPkUAu
https://dl.doubtnut.com/l/_zKqdC0jJPQHT

PA. PB = PC.PD

° Watch Video Solution



https://dl.doubtnut.com/l/_zKqdC0jJPQHT

